Linear Algebra (II) Exercise (Week 9)
April 19, 2024

1. B3k T:V —V % isomorphism.

(a) #P % A 5 T cheigenvalue, B] A #0 2 A~! 4 T~ ¢ cigenvalue.
(b) B3 f(x),g(x) »~ 8] & T 4o T~ ¢h characteristic polynomial. 2/ A €F % &_
fA)=0 %2z g(A~ ") =0.

2. B& T:V =V 5 linear operator, veV ¥ g(x) 3 2LF 53858 o &£ W 5 v 974 &
T-cyclic space ¥ & N % g(T) £ kernel.

(a) Bx dim(W)=k ZEPHEL WEW, &7 tri— ch— B o] 3 k h5 5 N
flx) # 8@ WZf(T)( )-
(b) #M N 5 T-invariant subspace.
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()
J& linear map T :R* = R* & 4 T(x,y,2,w) = (x+y+22—w,y+w,22—w,z+w).
W ={(x,5,0,0) : x,y € R}, U = Span((1,1,0,1),(2,1,1,2),(1,—1,2,1)).

HM VEN £F 5% WCN.
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(a) M W 4o U % 5 R* ¢ 1 T-invariant subspace.

(b) & w45 41 W, U ® 1 ordered basis B = (wy,wa), Y= (uj,up) ° 2 % BT Ty
ﬁ SH18 e LAERL 0 1B Ty 11y 9408 chd B,

(c) #P o= (W, wo,up,mp) ¥ ;% R* - % ordered basis, ¥ BT T 12 o 78
gk B, 325 Ty, Tly ™ %2 T ¢ characteristic polynomials. I 3P v i
Z_ R

(d) » %3N Tlw, Ty 2 T & eigenvalues » T3P v P enitdicd e Ao £
e -

4. ¥ T :R* - R* 2% % Ti(a,b,c,d) = (a+b,b—c,a+c,a+d). £ W, % (1,0,0,0)
1 & 4 e Ti-cyclic space.

(a) 2 & Wy - % ordered basis.

(b) A& T1 *A4] & Wy & characteristic polynomial.

b 1 1 .01, .
5 TRk Tz:Mz(R)%Mz(R) TR o Tz(A) 2 9 A 2 W & 10 1 A& 4 e Th-cyclic

space.

(a) #=$ W, eh— & ordered basis.
(b) #F & T *4] & W, & characteristic polynomial.



BHFFHELU NEHLELD RE A=UDU .

I A=UDU™! 3+ 5 A%

1 * Cayley-Hamilton Theorem 3+ % A%

I+ A=UDU~! & AL

ZI£ 'f Cayley-Hamilton Theorem #- A~! & & A2 AL cha it e & % U
fl* A=UDU ! $3]- & B % &_B =A.



